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General Instructions :

(i

Preparatory Course in Mathematics (OMT-101) Questions 1-50.
All questions are compulsory, each of which carries one mark.

Each question has four alternatives, one of which is correct. Write the Sl. No. of
your correct alternatives/answers below the corresponding question number in the
answer sheet and then mark the rectangle for the same number in that column. If

| you find that none of the given alternatives is correct write 0 and mark in

(iii)

(iv)

column 0.

Do not waste time in reading the whole question paper. Go on solving questions
one by one. You may come back to the left out questions, if you have time at the

end.

No Calculators are allowed.

qrarg 789 :

(i)

(iii)

(iv)

AT T | wifies argasd (3T UH.E-101) 9 1-50
ot gt orfrard €1 Ty & fau wE o e R

T g & Wi AR foed § R @ T w8 ¥ | IR g # fwgen w8 I/ fashed! &1 ofh
oo T % A Rl o R st of & oo T S e ¥ fog omd | aR ot i foR g oft
frse we el ¥ a1 0 ford aiit wierm 0 # g T |

TR -7 F TG § G gaE 7 FIAC| TH o AE TH FE F RN TR A G H T @,

A TS B T B G 3G I HEHA ¢ |

Frepaedl F A &1 ergHfa T ¥
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The degree of the polynomial —2 is :
M o 2 1 | 3 2 4 -2

An article with cost price Rs. 500 was sold with a discount of 20% charged 20% sales tax.
The final selling price of the article is :

(1) Rs. 480 (2) Rs. 500 (3) Rs. 400 (4) Rs. 540

J2 =32 then n is R

10
P 9 2 5 (3) 10 @ 3
4 :
9 right angle is equal to :
(1) 40° (2) 50° (3) 60° (4) 80°
How much is 45% of 240 ?
(1) 53 (2) 84 (3) 108 (4) 118

A decorative item regularly sells for Rs. 330 is on sale at 15% off. How much will a customer

save on the item during the sale ?

(1) Rs. 30 (2) Rs. 49.50 (3) Rs. 82.50 (4) Rs. 280.50

If p and q are perfect cubes which of the following will not necessarily be a perfect cube ?

(1) 8p 2 pqg 3) p+q 4) g

The value of 31+2!1+0!is:

(1) 5 2 9 3) 8 4) 5!
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10.

11.

12.

13.

14.

15.

16.

Six years ago Anita was P times as old as Beena was. If Anita is 17 years old now how old is

Beena now in terms of P (in years) ?

1 o +6 @ 1 +6 @ 17-+ Z

If E, and E, are two events such that P(E;UE,)=0.7, P(E; N E,)=0.1, and P(E|) =05 then
P(E,) is :
1) 0.2 2) 0.1 (3) 0.13 4 0.3

The mean deviation of the data 3, 5,2, 6,5,8,5,2, 8and 6 is :
(1) 5 (2)y 3.2 (3) 1.6 4) 8

Suppose a six-faced die is thrown, then the probability of getting a compositor number is :

n % 2 2 ¢ % 4 1

If one angle of a triangle is equal to the sum of the other two angles, then the triangle is :
(1) an isosceles triangle (2) an obtuse triangle

(3) an equilateral triangle (4) aright triangle

The point whose ordinate is 3 and which lies on y axis is :

1) (0,3 2) (0 -3 ®) G0 4 (=30

LCM of 5, 8, 12, 20 will not be a multiple of :
1 5 (2) 3 3 9 4 2

Two figures having the same shape and not necessarily the same size are called :
(1) congruent figures (2) equal figures
(3) similar figures (4) symmetric figures

OMT-101 5 P.T.O.



17.

18.

19.

20.

21.

22,

23.

24.

25.

A set of numbers consists of four 5's, six 7's, ten 9's, eleven 12's, three 13's. The mode of the

data of numbers is :

1) 9 @) 12 3) 13 4) 9.5

The value of x for which AB=BC, where A (6, —1), B(1, 3) and C(x, 8) is :
1 3 2 -3 3) 4 4) -5

The probability of an event that is certain to happen is :

1
(1) 0 (2) = 3) 1 (4) less than 1
If "C,="C;5 then nC, s :
(1) 12 (2) 11 (3) 1 4 O
% . » 5 then x is :
(1) 24 (2) 84 (3) 48 (4) 36

The simple interest paid on Rs. 2000 at 7% rate of interest p.a. in 4 years is

(1) Rs. 560 (2) Rs. 800 (3) Rs. 280 (4) Rs. 2000

If there are 5 men and 2 women on the board of directors who are competent to serve on a
committee, then the number of ways can a committee of three persons with two men and

one woman be choosen are :

1) 20 @ 10 3G) 2 4) 5

The ratio of 0.75 cm to 2.50 m is :

(1) 3:10 (2) 10:3 (3) 3 :1000 (4) 3:100
The next number of the sequence 1,7, 3,9, 5, 11 ........ is :
(1 7 (2) 13 (3) 15 4) 17
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26.

27.

28.

29.

30.

31.

32.

33.

34.

If 3x(2x —5) =ax?+ bx + ¢ then the value of a+b+c is :
¥ 7 2 -9 3 6 (4) 26

If a quarter kilogram costs Rs. 80 how many Rs. will 200 g costs ?
1 16 (2) 64 (3) 100 4) 40

The sum of all the prime numbers between 30 and 50 is :

1) 156 @) 199 (3) 166 4) 162

Three bells ring at the intervals of 10, 15 and 24 minutes respectively. All the three begin to
ring together at 8 am. At what time will they again ring together ?

(1) 8.40 am (2) 9.24 am (3) 1045 am (4) 10 am

Ram borrowed a sum at 15% p.a. at simple interest. If he paid Rs.2250 as interest after

3 years the sum borrowed by Ram is :

(1) Rs. 4500 (2) Rs. 6750 (3) Rs. 5500 (4) Rs. 5000

The two diagonals are not necessarily equal in a :
(1) rectangle (2) square

(3) rhombus (4) isosceles trapezium

In a square ABCD, AB=2x+3 cm, BC=3x-5, the value of x is :
1) 4 2 5 3 6 4 8

If 1 cm on a map corresponds to an actual distance of 400 km, and the distance on the map
between Bombay and Calcutta is 3.75 cm. The actual distance between them is :

(1) 375 km (2) 3750 km 3) 1500 km (4) 1375 km

When 36 is subtracted from the square of a number, the result is 5 times the number. What
is the positive solution ?

¥ 9 (2) 6 3) 3 (4) 4
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1
35. A formula used for calculating velocity is v= 5 at®. What is the expression which represent

tinterms of v and a ?

2v v J2v 2 Jv
27 2 | X NV
O @ \/; 3 = @ =
36. If 3x+y=10, and x+2y=7.5 then the value of 2x+2y is :
(1) 20 (2) 18 (3) 11 (4) 10

37. In a hockey league 87 players play as seven different teams. Each team has at least
12 players. What is the largest number of players in any one team ?

(1) 13 (2) 14 (3) 15 4) 21
. . _8 —SX _8 m_ ﬂ 2

38. Fmdmlf(ll) (11) —( 3 )
(1) 3 2 -3 3 7 4 -7

P
39. If ‘q" is a rational number, then which one is incorrect ?

(1) p can be zero (2) q can be zero

(3) g cannot be zero (4) p can be zero but q cannot be zero

40. The difference of 64.7 and 6.9398 is
(1) 30.76 (2) 56.872 (3) 57.7602 (4) 71.6398

41. Which of the fraction is less than % ?
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42,

43,

44.

45.

46.

47.

The letter A has :
(1) point symmetry (2) line symmetry
(3) a point and line symmetry (4) no symmetry

In a rectangle, the diagonal measures 34 cm, the length of shorter side is 16 cm. The length

of longest side is :

(1) 4cm (2) 8cm (3) 30 cm (4) 239 cm

The value of the roman numeral LXX is :

(1) 30 2) 70 (3) 120 (4) 700

If 374 and 6" terms of a GP are 18 and 486 respectively, then the first term and the common
ratio of the GP are respectively :

1) 2,3 2) 3,2 3) 2,9 4 9,2

Which of the following term is not in the expansion of (3a+2b)* :
(1) 96 ab’ 2) 96 a2b? (3) 81 at (4) 16 b*

In the figure AE=1 cm, AB=3 cm, AD=4 cm, CD =9 cm What is the area of AAEC?

C D

(1) 18 cm? (2) 13.5 cm? (3) 9 cm? (4) 4.5 cm?

OMT-101 9 P.T.O.



48. Which one of the following statements is ambiguous ?
(1)  The sun rises in the north
(2) The distance between Kerala and Kashmir is 2000 km.
(3) The number of candidates appeared in any entrance test is 1000.
(4)

4) The flowers in the garden are beautiful.

49. (- 1)129x (— 1)120 isequal to :

1 1 @) -1 3) 0 (4) 249

50. The average of 5 quantities is 10. The average of 3 of them is 8. What is the average of the

remaining two quantities ?

1) 6.5 2) 4 3) 13 4) 3.5

OMT-101 " 10



1. g -2 U@E:
1 o0 2 1 3 2 4 -2

2. 500%. @I B TF o FI 20% T G T =1 T A6 I W 20% foreet T feran w1 W A
WWWT@%
(1) 480 %. (2) 500 %. (3) 400 %. (4) 540 %.

3. J[A=32%1T@nt:

10

1 9 (2 5 3) 10 4
4. %WW%:

(1) 40° @) 50° (3) 60° 4) 80°
5. 2401 45% T T ?

1) 53 (2) 84 (3) 108 (4) 118

6. IEREA At FNE o Frafig ®T Y 330 F A S ¥ o7 FE 15% T2 A el W I0ASH 81 3
Aot % NE HE UEF 39 g W Fehal s e 2
1) 30% ) 4950 % (3) 8250 % (4) 280.50 .

7. AR p it q i e & A fre § § F oevas w9 9 T O S T am?
(1) 8p 2) pq (3) ptq @

8. 3!+2!+0!HHAFE |
1) 5 2 9 3) 8 4) 5!

9. o o ed T e s Y o A P off | AR g e St A g 17 98 8, N I W
S Y g (A W) P e H w2

1) 3+ @ 17+ ® V- @ 3
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10. A HEAN B, ofR E, 36 THR & R P(E, UE, =07, P(E;NE,)=0.1, &R P(E;) =05 %, & P(E,)
2

1 0.2 2 0.1 (3) 0.13 4) 0.3
11. &3 3,52,6,5,8,5,2, 8 3R 6% uren fage & -
(1) 5 (2) 3.2 k) 1.6 4) 8

12. 'ﬁ@@:%ﬂﬁmw@ﬁ%mm%aﬁ@mﬂmmeﬁﬁwﬁw%:

M % @ % ® » @ 1

13. AR forel Fust =1 o 10 S8% 371 @ Al AW F TR @, 9 9w e o d o
(1) wwfgerg B (2) fE & iy
(3) THaTg By @) wER

14. a%ﬁ—g,ﬁaaﬁaﬁ%ﬁaﬁwhy-mimﬁm%,ﬁm%:
1) (0.3 2 © -3 G G0 (4) (=30

15. 5,8, 12 3R 20 %1 &.€. F1et o1 ot 76 2rm
(1) 5 2 3 B) 9 4 2

16. HHM AHN WY AEYIH &9 F THA A9 7 G 1ol it waem € :
(1) watrem skl (2) UM efaar
(3) THEY 3Hiqar @) wafra enpfaai

17. €O % UH WUE H, UK 5, ®: 7, T 9, TNE 12, i 9 13 ¥ T SRSl 1 TgeF §
a 9 2) 12 (3) 13 4) 95

18. A (6, —1), B(1, 3) 3R C(x, 8) TG B W, AB=BC ¥ &, x 7 61 ¢
a 3 @ -3 @) 4 4 -5

19. 38 e 1 i, foven afed A g 2 Fre

M 0 (2) % B 1 (4) 19 %4
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20.

21.

22.

23.

24.

25.

26.

27.

. 28.

29.

afgnC,=nC, 7, 9 nC,

1 12 2) 11 (3) 1 4) 0
SSEANE
1) 24 2) 84 (3) 48 4) . 36

2000 %. T 7% =i 1 5/ 4 I % Frw faan o aremor s
(1) 560 %. (2) 800 . (3) 280 %. (4) 2000 %.

aﬁﬁﬁnﬁﬁ%ahéﬁ,swaﬁrzv%wi@a:ﬁﬁ%w%mﬁmmﬁ%fmﬁmﬁa
2 77 AR 1 #fgen At T A qeeh w99 fra TRl @ o o gt 20
(1) 20 (2) 10 (B3) 2 4) 5

0.75 cm 3R 2.50 m FT I &:

(1) 3:10 ) 10:3 (3) 3 :1000 4) 3:100

AIFA1,7,3,9,5,11 ........ T 37T W §
a 7 2) 13 (3) 15 (4) . 17

qﬁBx(Zx—5)=ax2+bx+c%,?‘I'Ta+b+c$l‘:lﬁ%:r
1 7 @ -9 @) 6 @) 26

e T fohclium & -t %1 o 80 %, ¥, @ 200 g F wE RRed wT i 2
1) 16 2) 64 (3) 100 @) 40

30 3R 50 % sftw %t |t 9w wemel = a9
1) 156 2) 199 (3) 166 (4) 162

ot wifel s 10, 15 31 24 il 3 sfaRrell % g ww) €1 2 A Szt T e 9E: 8 9wt
HEECER et R Lo cE: PRSP
(1) 9m: 840 W (2) UW: 9.24 W (3) WM:1045W  (4) Yd: 10"
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30.

32.

33.

34.

35.

36.

37.

7 X FE YA 15% afier S o § WYRO S W IUR & | afs 3T 3 981 & @1E oS & T4 H
2250 %. 311 FRT | & 9 ERT SUR o T ¥ |

(1) 4500 . 2) 6750 3. (3) 5500 %. (4) 5000 .

fart 91 Torehvil sht s BT ST TE ¢
(1) 2) =
3) FEgYS (4) wwfgaTg qHE

et a7 ABCD ®, AB=2x+3 3R BC=3x—5, 81 @, x 1 AH & :
(1 4 2) 5 (3) 6 4) 8

o et TR T 1 e 1 gt 400 km et g H Frefm et , aen st SR Fe
1 FEf WG 3.75 cm §, A ST e F ardfas 4 @
(1) 375 km (2) 3750 km (3) 1500 km (4) 1375 km

af Fredt T % ol § § 36 U W E, q IROIH $6 GEA 5 A W Bl 7 FHHT SR
TR
(1) 9 2) 6 3) 3 4) 4

éﬂqﬁsﬁf‘%{amﬁ%m,@ww%atz 2 p iR a ¥ v H t B oqaa HT A AR F17?

m o2 @ 2y o 2 w 2N

a a

A 3x+y=10 R x+2y=75, W 2x+2y F1 AH & :
(1) 20 2) 18 @) 11 4) 10

ot w F < A H, G fafi A ¥ 87 faerd wm @ ¥ v 2w A = 12 faard
¥ frdt uw An o faenfedi &1 aifoeay dem 1 8?2
1) 13 2) 14 ' 3) 15 @) 21
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38.

39.

40.

41.

42,

43.

44,

45.

Wﬁf@qﬁﬁudm%ﬁﬁmﬁ@ﬁqﬂéﬂﬁ%?

(1) p YA & FhaT B Q) q¥F A
3) q¥F TE F FHA B (4) p YA W GHAQ, TG q YL T & Ghal |

64.7 3R 6.9398 FT FR ® :
(1) 30.76 2) 56.872 3) 57.7602 (4) 71.6398

Freaferfam #-wt fom 1 @ % 32

8 8 8 8
M 35 (2) 37 G 4 @) 39
MWATE
(1) feig wmfafa ) @ wfafy
(3) feg ok Yan wafufa (4) =g gufufy 7=

forelt o & forshol 1 A9 34 om R, 9o IFT B ST BT WY 16 cm F1 SHE AL S0 H AG
?:

(1) 4cm (2) 8cm (3) 30 cm (4) 239 cm

AT G&HiH LXX FHAH ¢
1) 30 2) 70 (3) 120 4) 700

e foret MR 58 & 3 9 3R 6 9 I8 N 18 3R 486 €, 1 W UK & # yuH U< 3k W

YT HHT:
1 2,3 2 3,2 B) 2,9 4 9,2

OMT-101 15 P.T.O.



46. T o 4 SH-W 18 3a+2b)* & TR | eI 2
(1) 96 ab3 (2) 96 a?b’ (3) 81at (4) 16 bt

47. <8 3pfd H, AE=1cm, AB=3 cm, AD=4 cm 3R CD=9 cm &1 AAEC &1 &9%d ¥ § ?

(1) 18 cm? (2) 13.5 cm? (3) 9 cm? (4) 4.5 cm?

48. T o @ - wud diey §2
(1) ¥ IW A Frpean &
(2) Fa R FHFHR & =7 F gl 2000 km R
() et yaw wien | S At yenferdl S g 1000 § 1
(4) 39 s E R K

49. (- )Px (- 1) TR F
m 1 2 -1 @) 0 4) 249

50. 9= UiemEl w1 ofEd 10 %) 399 9 3 iyt o oitwa 8 &1 9w <) iyl o1 ofitag #n @ 2
(1) 6.5 @2 4 (3) 13 4) 3.5
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